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RATIONAL NUMBERS

Exercise 9 1

1. Write two equivalent rational numbers of

the following : 

4

5

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_3SSVOV7R1LTk


Watch Video Solution

2. Write two equivalen rational numbers of the

following : 

Watch Video Solution

−5

9

3. Write two equivalen rational numbers of the

following : 

3

−11

https://dl.doubtnut.com/l/_3SSVOV7R1LTk
https://dl.doubtnut.com/l/_om7xLBVQlDUw
https://dl.doubtnut.com/l/_xRf0fO72S3Vs


Watch Video Solution

4. Find the standard form of the following

rational numbers : 

Watch Video Solution

35

49

5. Find the standard form of the following

rational numbers : 

Watch Video Solution

−42

56

https://dl.doubtnut.com/l/_xRf0fO72S3Vs
https://dl.doubtnut.com/l/_AP1uehr6RjQR
https://dl.doubtnut.com/l/_2KthKGOxiYYB


6. Find the standard form of the following

rational numbers : 

Watch Video Solution

19

−57

7. Find the standard form of the following

rational numbers : 

Watch Video Solution

−12

−36

https://dl.doubtnut.com/l/_2KthKGOxiYYB
https://dl.doubtnut.com/l/_y0pu9OcKUogw
https://dl.doubtnut.com/l/_rRrBOr6ijSZq


8. Which of the following paris represent same

rational number 

Watch Video Solution

and
−15

25

18

−30

9. Which of the following paris represent same

rational number 

Watch Video Solution

and
2

3

−4

6

https://dl.doubtnut.com/l/_rRrBOr6ijSZq
https://dl.doubtnut.com/l/_tAGEckap2m7g
https://dl.doubtnut.com/l/_CIJ6wt8iFqoi


10. Which of the following pairs represent

same rational number 

Watch Video Solution

and
−3

4

−12

16

11. Which of the following pairs represent

same rational number 

Watch Video Solution

and
−3

−7

3

7

https://dl.doubtnut.com/l/_CIJ6wt8iFqoi
https://dl.doubtnut.com/l/_7IuwZjB0y0bg
https://dl.doubtnut.com/l/_7f23SknJuROt


12. Which is greater in each of the following ? 

Watch Video Solution

,
3

7

4

5

13. Which is greater in each of the following ? 

Watch Video Solution

,
−4

12

−8

12

https://dl.doubtnut.com/l/_KiS385Zo1zDb
https://dl.doubtnut.com/l/_zLFxVmCEU55j


14. Which is greater in each of the following ? 

Watch Video Solution

,
−3

9

4

−18

15. Which is greater in each of the following ? 

Watch Video Solution

−2 , − 3
2

3

5

8

https://dl.doubtnut.com/l/_04T3mCbN5Bvg
https://dl.doubtnut.com/l/_g4J0qDE7OL0e


16. Write the following rational numbers in

ascending order 

Watch Video Solution

, ,
−5

7

−3

1

−1

7

17. Write the following rational numbers in

ascending order 

Watch Video Solution

, ,
−1

5

−2

15

−4

5

https://dl.doubtnut.com/l/_MV23ebUwMrmB
https://dl.doubtnut.com/l/_MmR306oNo563
https://dl.doubtnut.com/l/_Rc1rcJMcmY3v


18. Write the following rational numbers in

ascending order 

Watch Video Solution

, ,
−3

8

−2

4

−3

2

19. Write five rational numbers between

following rational numbers 

Watch Video Solution

−2 and − 1

https://dl.doubtnut.com/l/_Rc1rcJMcmY3v
https://dl.doubtnut.com/l/_E9zrdAs5pFxq
https://dl.doubtnut.com/l/_52c574HHmxya


20. Write five rational numbers between

following rational numbers 

Watch Video Solution

and
1

3

5

7

21. Write five rational numbers between

following rational numbers 

Watch Video Solution

and
1

3

5

7

https://dl.doubtnut.com/l/_52c574HHmxya
https://dl.doubtnut.com/l/_vmX0tIVPrWna


22. Write four more rational numbers in each

of the following. 

Watch Video Solution

, , , ……
1

5

2

10

4

20

8

40

23. Write four more rational numbers in each

of the following. 

Watch Video Solution

, , , ……
−1

7

2

−14

3

−21

4

−28

https://dl.doubtnut.com/l/_NZU4Km63JoMn
https://dl.doubtnut.com/l/_GuOJ3flOgdXT
https://dl.doubtnut.com/l/_RJ0bvOLw5Wok


24. Draw a number line and represent the

following rational number on it. 

Watch Video Solution

2

4

25. Draw a number line and represent the

following rational number on it. 

Watch Video Solution

−3

4

https://dl.doubtnut.com/l/_RJ0bvOLw5Wok
https://dl.doubtnut.com/l/_FXGyBpZX3Bbw
https://dl.doubtnut.com/l/_agMcASK6V11X


26. Draw a number line and represent the

following rational number on it. 

Watch Video Solution

5

8

27. Draw a number line and represent the

following rational number on it. 

Watch Video Solution

−6

4

https://dl.doubtnut.com/l/_agMcASK6V11X
https://dl.doubtnut.com/l/_zq6pPCC2Xyce


Exercise 9 1 Multiple Choice Questions

1. Multiple choice questions : 

, then ? =

A. 3

B. 6

C. 9

D. 12

Answer: C

Watch Video Solution

=
3

4

?

12

https://dl.doubtnut.com/l/_AHrL982yiZCk


2. Multiple choice questions : 

, then ? =

A. -4

B. -8

C. 4

D. 8

Answer: B

Watch Video Solution

=
4

7

?

14

https://dl.doubtnut.com/l/_AHrL982yiZCk
https://dl.doubtnut.com/l/_G2TbKAe6KtKh


3. Multiple choice questions : 

The standard form of rational number  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−21

28

−3

4

3

4

3

7

−3

7

https://dl.doubtnut.com/l/_PxwaixL1bhnU
https://dl.doubtnut.com/l/_R1tIbSQNLFzf


4. Multiple choice questions : 

Which of the following rational number is not

equal to  ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

7

−4

14

−8

21

−12

28

−16

7

−8

https://dl.doubtnut.com/l/_R1tIbSQNLFzf
https://dl.doubtnut.com/l/_iJeWfdSMM6Jf


5. Multiple choice questions : 

Which of the following is correct ?

A. 

B. 

C. 

D. None

Answer: A

Watch Video Solution

0 >
−4

9

0 <
−4

9

0 =
4

9

https://dl.doubtnut.com/l/_iJeWfdSMM6Jf


6. Multiple choice questions : 

Which of the following is correct ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

<
−4

5

−3

10

>
−4

5

3

−10

=
−4

5

3

−10

>
−4

5

3

−10

https://dl.doubtnut.com/l/_yXCspcn4WUX7


Exercise 9 2

1. Find the sum 

Watch Video Solution

+
6

9

2

9

2. Find the sum 

Watch Video Solution

+
−15

7

9

7

https://dl.doubtnut.com/l/_CIC5s6jizqA5
https://dl.doubtnut.com/l/_gu9V7gj0hhNp
https://dl.doubtnut.com/l/_hRPhgCOQFYaZ


3. Find the sum 

Watch Video Solution

+ ( )
17

11

−9

11

4. Find the sum 

Watch Video Solution

+
−5

6

3

18

5. Find the sum 

+
−7

19

−3

38

https://dl.doubtnut.com/l/_hRPhgCOQFYaZ
https://dl.doubtnut.com/l/_HxRJx7FA0Mwi
https://dl.doubtnut.com/l/_7YUt6FbNNK0k


Watch Video Solution

6. Find the sum: 

Watch Video Solution

+ 0
2

3

7. Find the sum 

Watch Video Solution

+
−5

14

8

21

https://dl.doubtnut.com/l/_7YUt6FbNNK0k
https://dl.doubtnut.com/l/_U7mC8rTsaWLS
https://dl.doubtnut.com/l/_9S9ZczaDZrjo


8. Find the sum 

Watch Video Solution

−4 + 3
1

15

2

20

9. Find 

Watch Video Solution

−
7

12

11

36

https://dl.doubtnut.com/l/_VIzsCwSpjgmS
https://dl.doubtnut.com/l/_tOBcwdeuDHDe


10. Find 

Watch Video Solution

−
−5

9

3

5

11. Find 

Watch Video Solution

− ( )
−7

13

−5

91

https://dl.doubtnut.com/l/_mlUeSGNmIBb0
https://dl.doubtnut.com/l/_af1cLNMUWpHI


12. Find 

Watch Video Solution

−
6

11

3

4

13. Find 

Watch Video Solution

3 −
4

9

28

63

https://dl.doubtnut.com/l/_IlFQZocthJrl
https://dl.doubtnut.com/l/_wKPMgAtpZ6OB


14. Find the product of 

Watch Video Solution

×
5

9

−3

8

15. Find the product of 

Watch Video Solution

×
−3

7

7

−3

https://dl.doubtnut.com/l/_iajlWiFWXg8o
https://dl.doubtnut.com/l/_JL89osRbudyI


16. Find the product of 

Watch Video Solution

×
3

13

5

8

17. Find the product of 

Watch Video Solution

× ( − 18)
3

10

https://dl.doubtnut.com/l/_mlOQtenUy7yT
https://dl.doubtnut.com/l/_vAzToouCyFDX


18. Find the value of 

Watch Video Solution

−9 +
3

5

19. Find the value of 

Watch Video Solution

+ 4
−4

7

https://dl.doubtnut.com/l/_NDbTFd7QIsw5
https://dl.doubtnut.com/l/_UTmfi2lb0kEg


20. Find the value of 

Watch Video Solution

+
7

11

5

6

21. Find the value of 

Watch Video Solution

+ ( )
−8

35

−2

7

https://dl.doubtnut.com/l/_S7FfCXVmZ2iU
https://dl.doubtnut.com/l/_JkeS1LWJK8eu


22. Find the value of 

Watch Video Solution

+ − 18
−9

15

23. What rational number should be added to

 to get  ?

Watch Video Solution

−5

12

−7

8

https://dl.doubtnut.com/l/_nT98KgoPrFUb
https://dl.doubtnut.com/l/_UmFLYSH2UWyZ


Exercise 9 2 Multiple Choice Questions

24. What number should be subtracted from

 to get  ?

Watch Video Solution

−2

3

−5

6

25. The product of two rational numbers is

. If one of them is , find the other

number.

Watch Video Solution

−11

2

33

8

https://dl.doubtnut.com/l/_at8BRntjVTev
https://dl.doubtnut.com/l/_PmZHMvefQ1tY


1. The sum of 

A. -5

B. 5

C. 4

D. -4

Answer: A

Watch Video Solution

+ ( ) =
5

4

25

−4

https://dl.doubtnut.com/l/_kmuXXGlJmFzh
https://dl.doubtnut.com/l/_0G74LlQw4Jqy


2. 

A. 1

B. -1

C. 6

D. 3

Answer: A

Watch Video Solution

− =
17

11

6

11

3. × =
2

−5

−5

2

https://dl.doubtnut.com/l/_0G74LlQw4Jqy
https://dl.doubtnut.com/l/_xwg2Bz1DuAmo


A. 1

B. -1

C. 2

D. -5

Answer: A

Watch Video Solution

4. 

A. 1

+ ( ) =
7

12

−7

12

https://dl.doubtnut.com/l/_xwg2Bz1DuAmo
https://dl.doubtnut.com/l/_1GcG4zgQT6kn


B. -1

C. 7

D. 0

Answer: B

Watch Video Solution

5. Which of the following is value of

A. -32

( − 4) × [( − 5) + ( − 3)]

https://dl.doubtnut.com/l/_1GcG4zgQT6kn
https://dl.doubtnut.com/l/_Gu4jecI3HkJ4


Other Important Questions

B. 120

C. 32

D. -23

Answer: C

Watch Video Solution

1. Which of the following is not equivalent to

fraction  ?−
2

3

https://dl.doubtnut.com/l/_Gu4jecI3HkJ4
https://dl.doubtnut.com/l/_rIQZlo3nbQxI


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

10

−15

−
8

12

−
12

21

−16

24

2. Which of the following is not a positive

rational number ?

https://dl.doubtnut.com/l/_rIQZlo3nbQxI
https://dl.doubtnut.com/l/_5JnrhipCfIBg


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2

3

−3

−5

−2

3

5

7

3. Which of the following is a positive rational

number ?

https://dl.doubtnut.com/l/_5JnrhipCfIBg
https://dl.doubtnut.com/l/_WMCu3TsdNVdf


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2

−3

−3

−2

−9

15

−90

4. Which of the following is a rational number

is standard form ?

https://dl.doubtnut.com/l/_WMCu3TsdNVdf
https://dl.doubtnut.com/l/_8Mai251r38HQ


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−12

24

28

77

7

16

15

−90

5. The value of  is :

A. 

( × )
−9

16

8

15

−8

25

https://dl.doubtnut.com/l/_8Mai251r38HQ
https://dl.doubtnut.com/l/_9LIMoHygjPuG


B. 

C. 

D. 

Answer: C

Watch Video Solution

−9

15

−3

10

−2

5

6. The product of a rational number and its

reciprocal is :

A. 0

https://dl.doubtnut.com/l/_9LIMoHygjPuG
https://dl.doubtnut.com/l/_E8RFXxzhjek1


B. 1

C. -1

D. None of these

Answer: B

Watch Video Solution

7. Which of the following rational numbers

does not lie between - 1 and - 2 ?

A. 
−11

10

https://dl.doubtnut.com/l/_E8RFXxzhjek1
https://dl.doubtnut.com/l/_wuHQWvaPTDlF


B. 

C. 

D. 

Answer: D

Watch Video Solution

−17

10

−19

10

−
3

5

8. The value of  is :

A. 

B. 

+ ( )
3

13

−4

65

−12

65

−1

65

https://dl.doubtnut.com/l/_wuHQWvaPTDlF
https://dl.doubtnut.com/l/_vi1IW7BH29kH


C. 

D. 

Answer: C

Watch Video Solution

−15

4

−
1

5

9. Number  lies on the number line on

A. Right of zero

B. Left of zero

C. Both a and b

−3

5

https://dl.doubtnut.com/l/_vi1IW7BH29kH
https://dl.doubtnut.com/l/_8jFkYOYAU8Oc


D. None of these

Answer: B

Watch Video Solution

10. Which of the following rational numbers

are less than 1 ?

A. 

B. 

C. 

3

10

5

10

7

10

https://dl.doubtnut.com/l/_8jFkYOYAU8Oc
https://dl.doubtnut.com/l/_m4PEuhZFqoFj


D. All of above

Answer: B

Watch Video Solution

11. How many rational numbers lie between 2

and 3 ?

A. 1

B. 2

C. 3

https://dl.doubtnut.com/l/_m4PEuhZFqoFj
https://dl.doubtnut.com/l/_4kEMv9bLx94S


D. Infinite

Answer: D

Watch Video Solution

12. Additive inverse of  is :

A. -11

B. 11

C. -5

D. 5

( − 8 + 3)

https://dl.doubtnut.com/l/_4kEMv9bLx94S
https://dl.doubtnut.com/l/_4wssqpZc2i1k


Answer: D

Watch Video Solution

13. The number of the form , where a and b

are integers, b ≠ 0 are called …………. .

Watch Video Solution

a

b

14.  are ………… rational

numbers.

, ,
−5

7

−10

14

−15

21

https://dl.doubtnut.com/l/_4wssqpZc2i1k
https://dl.doubtnut.com/l/_h0yTqgmxZObS
https://dl.doubtnut.com/l/_NetneQh0yNzF


Watch Video Solution

15. Standard form of  is ………….. .

Watch Video Solution

105

210

16. A negative rational number is always …………

than zero.

Watch Video Solution

https://dl.doubtnut.com/l/_NetneQh0yNzF
https://dl.doubtnut.com/l/_LViQdPJVCJLE
https://dl.doubtnut.com/l/_mC3JzjtRhhlN


17. Sum of rational numbers and its additive

inverse is 1.

Watch Video Solution

18. Fill in the blanks : 

Product of rational number and its reciprocal

is …. .

Watch Video Solution

https://dl.doubtnut.com/l/_CtY5R8FS08j2
https://dl.doubtnut.com/l/_pa5zwchFbiPE


19. The sum of  = …………. .

Watch Video Solution

+ ( )
3

7

24

−7

20. Reciprocal of 1 is …………… .

Watch Video Solution

21. A rational number is said to be negative if

its both numerators and denominators are

negative.

https://dl.doubtnut.com/l/_gIzaQYozffEm
https://dl.doubtnut.com/l/_2bpHqB0Ayi68
https://dl.doubtnut.com/l/_89Daj8sDqKvA


Watch Video Solution

22. A positive rational number is always

greater than zero.

Watch Video Solution

23.  represent different rational

numbers.

Watch Video Solution

and
7

16

−7

−16

https://dl.doubtnut.com/l/_89Daj8sDqKvA
https://dl.doubtnut.com/l/_YsAOaKvzTbxm
https://dl.doubtnut.com/l/_6iRChO1Z0W6U
https://dl.doubtnut.com/l/_AUq43ogOvQdU


24. 0 is the only rational number which is

additive inverse of its self.

Watch Video Solution

25. Reciprocal of 0 exists.

Watch Video Solution

26. Multiplicative inverse of a non-zero rational

number  is (-a)/(b)`.
a

b

https://dl.doubtnut.com/l/_AUq43ogOvQdU
https://dl.doubtnut.com/l/_FqzLUh4qbSU7
https://dl.doubtnut.com/l/_Oct5q02VW1zn


Watch Video Solution

https://dl.doubtnut.com/l/_Oct5q02VW1zn

